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All work must be shown to receive credit.

1. (4 points) The heat of formation of glucose, C6H12O6, is  -1273 kJ/mol.  Write the reaction represented by this heat of formation.  (Remember, this is the question I promised you!)
2. (8 points) From the heats of reaction 

2 H2(g) + O2(g)  (  2 H2O(g)

H = –483.6 kJ

3 O2(g)  (  2 O3(g)


H = +284.6 kJ

calculate the heat of the reaction.
3 H2(g)  +  O3(g)  (  3 H2O(g)

3. (8 points) Using the values below, calculate the value of Ho for the combustion of glucose.

Balanced chemical reaction
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Substance Formula (kJ/mol) Substance Formula (kJ/mol)
Acetylene CoHx(g) 226.7 Hydrogen chloride HCl(g) —92 8
Ammonia NH;(g) —46.1 Iron(III) oxide Fe,O5(s) —824.2
Carbon dioxide CO5(g) —393.5 Magnesium carbonate MgCOs5(s) —1095.8
Carbon monoxide CO(g) -110.5 Methane CHa(g) —74.8
Ethanol C,HsOH(I) —277.7 Nitric oxide NO(g) 90.2
Ethylene CoHy(g) 52.3 Water (g) H,0(g) —241.8
Glucose CeH12046(s) —1260 Water (I) H,O(I) —285.8





